Potencias de 10 (C)

5,927 +0,01

5,018 +0,01

4,208 +0,1

6,321=0,1

6,05+0,1

7,956 =0, 1

1,312+0,01

5,153+0,1

0,515+0,001

7,093 + 0,01

Calcule los siguientes cocientes.

4,995+ 0,01

3,153 +0,001

4,787 +0,01

4,968 +0,01

4,92 +0,01

3,113+0,1

1,080,001

8,139--0, 1

5,319=-0, 1

9,816 -+-0,001
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Potencias de 10 (C) Respuestas

5,927+ 0,01
592,7
5,018 +0,01
501,8
4,208 =0, 1
42,08
6,321 +0,1
63,21
6,050, 1
60,5
7,956+ 0,1
79,56
1,312+0,01
131,2
5,153+0,1
51,53
0,515 0,001
515
7,093 +0,01
709,3

Calcule los siguientes cocientes.

4,995+ 0,01
499, 5
3,153 +0,001
3.153
4,787 0,01
478,7
4,968 0,01
496,8
4,92 0,01
492
3,113+0,1
31,13
1,080,001
1.080
8,139--0, 1
81,39
5,319+0,1
53,19
9,816+ 0,001
9.816
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